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Subject: Data Sufficiency and Quadratic Inequalities
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Directions (1-5): 1= T 0 Y W7 & UH W AT &7 F49 [ < 11 7w 77 g1 swaehr
et FeaT 8 o Fa=1 § <7 T STl T07 7 3T o & (o0 9979 g 7 gt | T FA0 Hr
gfRw 3fiv 39T -

(a) T FAT | | AT AT STET 3Thed T &7 3L & o (10 978 g, Sateh wad 11 7 f&7r /=
STET 3Tehel T T I & o (10 93TH A5l o

(b) =& o 11 § AT AT STT 3Tehicl T T IAL & o 1T GATH 8, Ttk w4 [ | &7 137
STET 3Tehel T T I & o (10 9ATH A5l §

(c) TTE IT T FAT 1 FT STET 3Tohed T FHAF 11 T STET 3Tohel T T I & o (o7 TATT ¢

(d) =< 7 a7 w9 [ 30T 7 g1 FAT 11 H T&FT 73T STET TF FT IAL & o [0 77 78l &

(e) T= FIT 137 11 AT | AT 74T STeT THATHT T FT 3L < o (1T AT &

Q1.FFMEIT GIT U a&q &l 240 FIF H I3 I T HT 77 ToF ST 0l Tor3?

() T T%T 25% ATF § =1 SATAT &, AT AT a1 40 TIT gATTL

(I1) &g T sifeha Lo 400 FIT g 3T ATH%, Fe% & aET g A ard qiaerd 40% g
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Q2. ¥ FTAIT &F T ATTAT AT I 9702

(1) & ¥ SATE, o F A Bear 7 100% AfearF )
(I1) 97 # ST T &6 154 a7 44T 2
L1Difficulty 2

QTags Data Sufficiency Quant

QCreator Deepak Rohilla

Q3. 2% x 3Y T g9 AT HIforU)
() x 3% y % ATH T T0T 8 2

(I1) x 3T y % | FT [OEHRA 7 5
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Q4. 9T STef § T 3T Tl ST shitor?
() T3 ST 9T & SqFa 64 T & T a7 T2 & o0 o 17 957, ofd ST § 9971 10
T FHTH AT G a7 HX o o0 o7 70 S8/ &7 e 997 gl




(I1) &m=T ¥ T 5 fFrfi/ereT 2
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Q5. U e § AT, AT 3¥ Tha I ThT it g g1 T e =T it Teqr <7 T2 ¢ 97 U
THE g ITH FA Y ITHREFAT st1a Hifsrm)

(A) UF AT g ITH FLA 6T ATIAHAT <F TS 2

(B) U TSAT 3T ITH A T TTHAHAT oF TS 2

L1Difficulty 2

QTags Data Sufficiency Quant

QCreator Deepak Rohilla

Directions (6-15): Rufafed y@® w1 & T g R 1w §1 Tiw<on i g ¥ 3T ST
-

I.x2+10x+24=0

2 _ _

%. II. 4y¢ - 17y + 18 =0
(a) TR x<y
(b)T=E x>y
(c)afex<y
(d)afRx2y
(e) TR x = y AT Fils Y TATUT gl (AT AT THAT &
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.L16x2 +20x+6=0
Q7 II. 10y2 + 38y + 24 =0

(@ 7fIx<y
(b) T x>y
(o afex<y
(d)afEx=y
(e) TR x = y AT Fls Y TATUT Tl THAT AT THAT ¢
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I.17x2+48x =9

2 — _
op 11 1357 =32y - 19



(@) afTx<y

(b) x>y

(o) afxx<y

(d)yafzx=y

(e) T x = y AT FIS Haer TITHOT A5l FHAT ST THAT
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L4x + 7y =209
g0, 11 12x~ 14y +9 =38

(@) e x<y

(b)aEx>y

(o) afex<y

(d)afEx=>y

(e) TR x = y AT Fils Y TATUT gl (AT AT THAT
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I.x2=729

Q10. II. y=+v729

(a) fex<y

(b) x>y

(c)afex<y

(d)afRx2y

(e) TR x = y AT Fls Y TATUT gl (AT AT THAT g
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1.9x2 —27x +20 =0
2 _ =
o, 67 =5y +1=0

(a) e x<y
(b)afEx<y
(C) x =y AT x 3T y o 1= G TITIUT Al THAT AT TFaAT 2
(d)afex=y
(e)AfEx>y
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L.3x2 —22x +40 =0
gz, 12y% =19y +44=0

(@ afTx<y

(b) T x<y

(€) x = y AT x 31T y o S Harel T Al R AT AT ThaT B
(d)afEx=>y

(e) x>y
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L2x2 —11x + 14 =0
oz, 2y =7y +6=0

(@) FEx<y

(b)TEx<y

(€) x = y AT x 31T y o = Harel T Al R AT AT ThaT B
(d)afRx2y

(e)afEx>y
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L.x2 =49
2 —_ _ p—
e Y —4y-21=0

(@afx<y
(b)afEx<y
(€) x = y AT x 31T y o = Harel T Al [ohAT AT ThaAT B
(d)afEx=y
(e T x>y
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.3x2 —13x — 10 = 0
2 —
ois. 113y% +10y —8=0

(@) afTx<y
(b) T x<y
(€) x = y AT x 3T y o 1= Gaer TITHOT A5l FFIT AT ThaT 2
(d)yafzx=y
(e)afXx>y
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Solutions

S1. Ans.(c)

Sol.

From |

Let C.P. of article be Rs. x.
125 240 40
— X - =
100 x

x =300 —40 = Rs 260
From II
Since profit% & discount% is given and S.P. & marked price is given.
= cost price can be determined.
=~ Either from I or II.

S2. Ans.(e)

Sol.

From [ & II

Area of base of cone (nr?) = 154
~mir® = 154

r’=49

~r=7cm

~ height (h) =7 x2 =14 cm.
Volume = im‘zh

1 22
:§><7><7><7><14
_ 2156 3
I

S3. Ans.(e)
Sol.

From [ &I
x+y=8..()
xy =7



(x-y)*=(x+y)* - 4xy
(x-y)*=(8)>-4x7
(x-y)*=36
X-y=06..(ii)
ax=78&y=1

Or x=1 & y=7

S4. Ans.(e)
Sol.
From I &I

Let speed of boat in still water be x km/hr and speed of stream be y km /hr.
64 164

x+y_2 X

x=y=>5km/hr

S5. Ans.(e)

Sol.

Given no. of white ball
Let—a

From I let probability —%

Let no. of red ball — px, total balls — py
From Il — Let probability = %

Let no. of black ball = gs, total balls = qt
From I &Il

px+a+(qs=qt=py
we know the values of X, y, s, t and a so we can find the value of p and q

So probability of white ball found = % or ;—y

~ 1 & Il together are sufficient to answer the question

S6. Ans.(a)
Sol.

Lx2+ox+4x+24=0
X(x+6)+4(x+6)=0
(x+4)(x+6)=0
x=-4, -6
IL4y2-8y-9y+18=0
4y(y-2)-9(y-2)=0
(4y-9)(y-2)=0

9
y=312

S7. Ans.(b)
Sol.



L16x2+8x+12x+6=0
Bx(2x+1)+6(2x+1)=0
(Bx+6)(2x+1)=0

X=—,—
4’2

IL 10y2+30y+8y+24=10
10y (y+3)+8(y+3)=0
(10y +8) (y+ 3) =0

S8. Ans.(a)

Sol.
.L17x2+51x-3x-9=0
17x(x+3)-3(x+3)=0
(17x-3)(x+3)=0

3
X = E,—g
II. 13y2 - 13y - 19y + 19 =0
13y (y-1)-19 (y-1) =0
19
y=145

x<y

S9. Ans.(a)

Sol.

4x + 7y =209 ...... (i) x(-2)=-8x-14y=-418
12x - 14y =-47 v (i)

Subtracting (i) from (ii) and solutions
x == =1855,y = 19.25

x=y

S10. Ans.(c)
Sol.

x2-729=0
(x-27)(x+27)=0
x=27,-27
y=4729 = 27

X =y



S11. Ans.(e)
Sol.
[.9x* —27x +20=10
9x% —12x —15x+20=0
3x(3x—4)—5(3x—4)=0
(3x —4)(3x—-5)=0
5 4

X =—or-
3 3

IL6y* —5y+1=0

6y —2y—3y+1=0

2v(3v—1)—1(3y—-1)=0
1 1

=—or -
R

X>y

S12. Ans.(b)
Sol.
.3x>—22x +40=0
3x7 —12x — 10x + 40 =10
3x(x—4)—10(x—4)=0
(x—4)(3x—10)=0
10
x=4 or —
3
IL.2y2 — 19y + 44 =0
2y — 11y — 8y + 44 =10
y(2y —11) —4(2y—11) =0
Ry—11)(y—4)=0
11
v =?0r4

yV=x

S13. Ans.(d)
Sol.



L2x—11x+14=10
2x2—T7x—4x+14=0
x(2x—7)—2(2x—-7) =0
(2x—7x—2)=0
x=101'2.

2
IL2y: -7y +6=0
2y?—4y—-3y+6=0
2y(yv—2)-3(y—-2)=0
(y—2)2y—3)=0
y= 0[‘2
x"}'}:

S14. Ans.(c)

Sol.

I x* =49

x =17

Ly —4y—21=0
y:i—T7y+3y—21=0
yy-7)+3(y-7)=0
(y=7)Ny+3)=0
y=7or—3

No relation

S15. Ans.(c)
Sol.
L3x*—13x—10=0
32 —15x+2x—10=0
3x(x—5)+2(x—5)=0
(x—5)3x+2)=0
-2
xr=25 or—
.3y 4+ 10y —8=10
3y*+12y—-2y—-8=0
3yy+4) -2y +4) =0
(v+4)3y—-2)=0
2
y=—4 org

No relation



